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A b@x contains 12 red balls and 10 green
balls. How many balls are there

altogether ?

Deepu has 64 red colour balloons and 27
blue colour balloons. How many balloons
does he have ?

Vicky has 72 flowers. Jyoti gave him
18 more flowers. How many flowers does
Vicky have now ?

There are 40 birds on a tree and 21 birds
on another tree. How many birds are
thereinall ?

L

86 apples in another basket. How many
apples are there altogether ? + [

There are 17 apples in a basket and @;— -

«i""’ook shelf. How
aﬁogether in both




Y.

When we remove or take away few things or numbers from a g
subtraction. In subtraction we count what is left. The symbol of s

is ‘— (minus). :
T A

tract by counting backward.
eR%9

Example : Subtract 4 from 6.
We write the digits as shown :

The difference bet
and4is2. .. 6—4

1. Fill in the blanks.
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